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5216 W& = 0] 0 0]
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1200 S X+ EFRFARS Q) 1 1 0
1260 29Dz &4+¢ 1 1 0
1262 olei)|Z2oE 0 0 0
1263 olM=I|IZ20E 0 0 0
1264 ol &s)|Z0E 0 0 0

1266 LASHSHI|ZUE 1 1 0 (g A) 1,000

HeE B 18 @A*13 1,000
1300 D& XHAHOH 242 802,000 0 802,000
1310 SE DAL 802,000 0 802,000
1311 E X 0H2CH 0 0 0

1312 21 20H240H 800,000 0 800,000 800,000,000

AEE  JOIXH)ZAE 012 =& 800,000 & *13] 800,000,000
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4100 24 2,233,840 2,097,840 136,000
4110 DAL S 1,351,780 1,367,380 £ 15,600
4111 RS0l 0 0 0
4112 D03 0 0 0
4113 DM 63,600 7.800 55,800 (8 3 63,600,000
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I P e TS 508 21601 & +28 )| 6,000,000
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SRk S NHRSMEHIN DR 30 21x120A1 2+ 13] 3,600,000
4114 DAY= 1,119,880 1,119,880 0
ne 616,680 616,680 0 (&3 616,680,000
98 (MW AEt 3 46,0008 & 124 & 552,000,000
28 |[MRud o3e ol 1,300% &+ 1201 2 15,600, 000
28  |nNdEaRY 4,000% 211204 8 48,000,000
28 |[ARN Wl BNk QEA«120H 1,080,000
ne 31,200 31,200 0 (8 3 31,200,000
= 600 & *12JH 8 7.200,000
E28  |ABA 2003 2,000% 21123 24,000,000
ne 270,000 270,000 0 (8 3 270,000,000
£28 [dnng gz 232 1,500% & +123| 18,000,000
28  |uAzEERy 21,0008 & 120 & 252,000,000
e 42,000 42,000 0 (&8 ) 42,000,000
28 |u¥ MEEE 1,5008 &+ 1201 2 18,000,000
228 |u® 08232 2,000& 211204 2 24,000,000
WE 160,000 160,000 0 (& 3 160,000,000
£28 |DENLgYIRHT HE 80,000& & 2% 160,000,000
4115 Altol2 30,000 106,800 /76,800 (& 3 30,000,000
DRE  [AA WEE 23 NS 15,000& & «28tJ| 30,000,000
2HMRE [820f AAE 30& @ *160A1 2+ (10 76,800,000
2HBE [(R)E=0l BAE 76,8008 & *13] 2o 76,800,000
4116 SgaR 20,500 15,100 5,400 (= ) 20,500,000
BANS |BMDSI A2 303 R * 15 +2AI 2Hx8 1 & #251))| 14,400,000
HMNS |[MAROE SY BAE 350% 2+ 15/ %284 )| 700,000
SHRE (D20 ZAE(2AF) 30 21+ 15A| 2H481 D x30} 5,400,000
4117 DEERNS 35,000 35.000 0 (& 3 35,000,000
nRE AL ERS XS 2,500& & 28t )| 5,000,000
W2E A EIRS By 15,0008 2128 30,000,000
4118 ZWOI2AH 82,800 82.800 0 (& 3 82,800,000
£28 |z 2we3 3,000& &1+ 124 2 36,000,000
z2g [z AzRs=gz 2.300& 211204 8 27,600,000
£28 |z n8YEs 1,000% &+ 1201 2 12,000,000
28 |z MHEEE 600 &+ 1204 2 7,200,000
4120 AL 882,060 730,460 151,600
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1X=H 20l & “A8) 2 A =
2 £ =2 e (A) (8)
4121 =230 0 0 0
4122 XA 0f 2 0 0 0
4123 =TS 105,000 0 105,000 105,000,000
- O ENEEERE 105,000& &+ 13] 105,000,000
4124 NAHF LSS 648,600 617,600 31,000
ARG 303,400 302,400 1,000 (& ) 303,400,000
28  |HAstogRalz 24,0008 & 12042 288,000,000
£28 (AR SS 1,200% 2% 1204 2 14,400,000
28 |[UDEJANMH2ARES 1,000% &13] 1,000,000
R 30,000 30,000 0 (& ) 30,000,000
28 [N ¥ g IgaRal 2,500% &1+ 1201 2l 30,000,000
NAALEHRLS 174,000 174,000 0 (& ) 174,000,000
98  |mdzgsRgl 14,500% 211204 & 174,000,000
NADEMNEES 31,200 31,200 0 (& ) 31,200,000
98 |MYNE2EE 1,800% &+ 120 2 21,600,000
28 |[HAMNEES 800F &+ 120 2l 9,600,000
EEEEESS, 110,000 80,000 30,000 (8 AH) 110,000,000
28 [Mso3Ensgega 80,000 & *13] 80,000,000
28  |(IR)AESE RLagwag 30,000 & *13] 30,000,000
4125 2 AIZIQI2AH| 126, 160 110,560 15,600 (&) 126, 160,000
IMLE  [SIIoAHI(HE L) 1,000% & * 1200 2 12,000,000
n2E  [ZDXY JIEAY 1,000% &+13] 1,000,000
JIEA (AR S 2,370& 2 +401x 70 2 66.360,000
HMLS [Jost X ol 2,300 21 +67H & »25tJ| 27,600,000
YUK [Hosty Ie 303 120 % 21 +60H & »28t )| 1,440,000
YUK [Jost) ME HALH 1107 21600 & »28t )| 1,320,000
HWYUS [Hotst) I DRATHES TOR 21 +60H & »28H )| 840,000
W2E  |(IRDHICHS +AXISAY o124H] (WHIHS10%) [NEE2, 3258 60 2+ HI 0§ S258F =60 2 15,600, 000
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4210 Al& 221 110,220 100,220 10,000
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AAE  [BSstAl AMA SXE2 10,000 2123 20,000,000
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ANEE  |BS8A ATRIAE B2I18Y 300 & * 128 3,600,000
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ANLE  [ZoAs2 A=) 2y 60X &+ 128 720,000
4216 282 0 0 0
4217 214 - ARZ 0 0 0
4219 JIEFAI A el 62,000 52,000 10,000 (& ) 62,000,000
ANEE  [BSsA AEE SN2 3,0008 & +128 36,000,000
ANEE  [(IXDESSA AIE2 SN2 1,000& %103 10,000,000
ANEE  |ESsA BHE2IA DR 5,000& 2 x23| 10,000,000
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n s 2021 2021 £2 on o]
1X=H 20l & “A8) 2 A =
b & = Al () (8)

2HDE [R01sd YA S24, HAA S S XY S AL 400H 2+33] 1,200,000

4241 JIEL2 YL 141,896 90,696 51,200 (& AH) 141,896,000

2HDE |2HRE st 29| 400% & %1002 *13] 40,000,000

SHLE (DI MDE Sstaze 29| 33,600 & *13] 33,600,000

[MDE [B20NSUE 2I3H(2U4 ) 300F 2«44 BH=48t D] 4,800,000

[MDE |[BR00SUE 2IHI(2SHE) 50F $1+75% «23] 7.500.000

2HDE |SHF0DSUE 2HI(M44 Zetmg) 800 & 43 3,200,000

2MDE |SHR0/8A oistoiaM 22 400 & 602+ 1 24,000,000

2HRE [RS8t olsteisd 2|2 15,600% 2113 15,600,000

2MDE |S20isd JIERg 3.000& 413 3.000.000

Ase |25 GoE g2 @ 2A2E 29 5,496% 4 +13] 5,496,000

HMDS [HoED $EH 1,000& 8«28t )| 2,000,000

BHMDS |[(13)H A5+ 2.000% 213 2,000,000

BMDS |SIINE B22Y 50& 8«70t F #2584 700,000
4300 & P& A | 13,081,900 13,069,900 12,000
4310 o] 0 0 0
4311 21324 0 0 0
4312 22| 0 0 0
4320 544 2| 12,921,900 12,909,900 12,000

4321 WeIFE3 12,900,000] 12,900,000 0 (8 )  12,900,000,000

SA=X |222EEE 350,000& #2584 J| 700,000,000

SA=X |2EEE 1R 4,950,000 &1 x28t )| 9,900,000, 000

SM=X |20EES 2RE 350,000& & #2584 J| 700,000,000

su=x [gsi3 2E (s 400,000& & «15¢7] 400,000,000

SA=X | XISoITHE S 300, 000& & 25 J| 600,000,000

SA=T |SIUAICIZIBE S 50,000 & 25t 100,000,000

StM=T |JIE =LA S 50,000 & 25t 100,000,000

StA=T | XXX B 50,000 & 28t 100,000,000

SA=X |AtE 2 DJIEH WelFEa 200,000& € #2584 300,000,000
4322 WU B2 0 0 0
4323 MEASH| 0 0 0
4304 =2ANE 0 0 0
4325 BT 2t 0 0 0

4329 JIEFSH A A 21,900 9,900 12,000 (8 ) 21,900,000

2xnE [Rety sS4 22|/5Y 58 /Ax100%*23| 1,000,000

2LE [gety s AEH Y 2HErS| 500F #+23] 1,000,000

JlsAL [Em2tgsio Bols Ty 2008 2 +63] 1,200,000

JISAL [AASSEERZ 0TAL M 40024 +750% <23 600,000

JIsAL [QAaE20 Ag S 2008 2 +23] 400,000

JISA [SAHMAIY 300& 2 +13] 300,000

BANS |JHAs) Y34 S 2,700% 211528t 5,400,000

SM2X |(ADHIELES SAHI(ZEREE) 6,626% & *13| 6,626,000

ST [(1XHDHERIE S 2SI (HslZ8ibl) 1,5828 & x23| 3,164,000

ST [(1XH)HHERIE S 2HHI(OIEIEibl) 2,210 213 2,210,000
4330 Al 22| 160,000 160,000 0
4331 LAY 0 0 0

4332 U AIZH 160,000 160,000 0 (& ) 160,000,000

UStE  [rErsl Foi(£AlL, BAD)-HI8EE 20,000% @ *13| 20,000,000

ste  [erers] Eoi(£=Al, HA-JIEeErs 5,000& 2113 5,000,000




o = 2021 2021 = "
1XF=3 = 0l & 2 H ME2H
2 -] = H= (A) (8)
QIstel  |HFCIIHHI 10,000% & *13] 10,000,000
QIstEl  |UAIYRAILY 1,000% 2«44 8 4,000,000
Qlstel  |oise 40,0008 2«13 40,000,000
QStE  |UAYR AR2EH| 5003 2 +23] 1,000,000
Qstel  |2@EZ 680F 21 +33] 2,000,000
QStE  |&s2240 22 800& 2 +13] 800,000
ostel  |HEDAL HEHA 28 14,000% 2 *13] 14,000,000
St |UAETE Y 5,000 21«13 5,000,000
QSte |22 B4 Uy 42 24,200% 2«13 24,200,000
QStEl  |UARPUT20W 2 34,0008 & %13 34,000,000
4400 WAL 1,312 512 800
4410 XIZ0I Xt 0 0 0
4411 XIS0I Xt 0 0 0
4420 DIEI R SAHIS 1,312 512 800
4421 E=a 1,312 512 800 (8 Al) 1,312,000
Jl=lel |JIEr Baayl 5128 2x13] 512,000
D128 |(1X)JIEF && A 380& 2 +13] -380, 000
HMOS (1RSS40 HS HEMK, O 1,180% & *13] 1,180,000
4500 M &2 0 0 0
4510 &3 0 0 0
4515 SEIHEES 0 0 0
4516 DUHAES 0 0 0
4600 01l HIH 50,000 50,000 0
4610 0flHIdl 50,000 50,000 0
4611 olibIbl 50,000 50,000 0 (& A 50,000,000
[GIEIEL 50,000 & *13] 50,000,000
1200 S XHQLI|EFRFAH 240,502 240,502 0
1220 S RHAHAX = 0 0 0
1229 JIEFE XA X & 0 0 0
1240 JIEFRFALXI E 0 0 0
1241 MANSEES2XS 0 0 0
1242 AXNES SN E 0 0 0
1243 I SX & 0 0 0
1249 D|ELRHAFXI & 0 0 0
1260 2202 XE 240,502 240,502 0
1262 oAl 2HY 1 1 0 (& Al) 1,000
N ESS 1,000
1263 LOIAFIIZHEY 230,000 230,000 0 (& 2) 230,000,000
HWERE  |AAHEI|S(0IKEEY) 120,000 & 2 *13] 120,000,000
MRE  |goA=II=200I182 JlY) 50,000% & *13] 50,000,000
MRE  |goAFIZ(II22 SHHLIIH) 10,000% 2 *13] 10,000, 000]
WRE  [LAASI|IS(OIRS Hel) 50,000 & %13 50,000,000
1264 Ao|HsI |2 HY 1 1 0 (8 Al) 1,000
HRE  |EX 1,000
1265 2og =23 HE 0 0 0
1266 LASHEHIIS XY 10,500 10,500 0 (8 A 10,500,000
2o ISR 10,500 10,500 ° B
MEPPOSPIETCIPEED 5008 21 %13] 500,000




o = 2021 2021 = o o
Xk b S
o 3 = e 1 :A)a E(O‘Epil)(i (*-8)
2SI X2 (2SI IIZ) 10,000,000
1300 D& XHAHOH 800,000 0 800,000
1310 RE D XA 800,000 0 800,000
1311 EXI0HL I 0 0 0
1312 A 208l 800,000 0 800,000 800,000,000,
(ZD AL 012 ChAl 3 St 800,000,000
1313 =SS0 Y| 0 0 0
1314 21 A1 2 bl 0 0 0
1315 &0l S0 bl 0 0 0
1316 AtES SRR 0 0 0
1317 =M 7Lbl 0 0 0
1319 A& 1A 0 0 0
2200 DX A s 5,000 5,000 0
2210 B ML SN 0 0 0
2211 BI|X 24t 0 0 0
2220 JIEt DHS I & & 5,000 5,000 0
2221 dUHEE38=2 0 0 0
2222 ZI|0IX=34st 0 0 0
2229 JIEF DX H o A 5,000 5,000 0 &t 5,000,000
WRE 5,000,000
49 O|AFZ XII|01 & Xt2 20,000 20,000 0
4901 OIAHEXII01E X2 20,000 20,000 0
N2SXE A 17,036,000 15,920,000 1,116,000
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